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400mih b-Yb- 5 11 9 10 8 6 4 1 7 2
400mBdHE 10 11 8 7 3 4 6 9 2
200mIEKE 4 9 7 8 6 5 1 11 3 10 2
400m{BAA b- 10 11 6 5 9 3 4 7 8 2
100mBdHZ 8 11 10 7 4 1 2 9 5 6
10
200m 9774 8 11 7 6 9 4 5 10 1 3 2
200m&EXE 8 9 6 10 7 5 11 4 3 1
800mYL- 9 11 10 6 3 4 8 1 5 2
g 5t = 62 84 63 59 49 32 40 49 19 50 19
JIg: {1 3 1 6 9 6 10 5 10
400mih b-Yb- 9 10 6 11 5
100mBdHz 8 10 5 4 7 11
1 00mExKE 10 11 8 9 6 7 2 4
200m{8AAN b- 10 6 11 7
50mBi 3 9 10 7 5 4 11 8
20mi
100mN\ 9771 11 9 4 5 7 10
100M&EXE 9 8 10 6 4 5 11 7
4.00mYu- 11 7 9 5 8 10 4 6
g 5t = 68 42 50 70 33 41 32 70 40 44
JIg: {1 3 6 1 9 7 10 1 8 5
200maih b-Yb- 11 10 6 7
100mBdHz 10 11 8 3 6 2 5 9
50mIxE 11 6 10 8
200m{BAAN b- 6 10 11 5 8 4 7 3 9
50mBd 11 10 8 6 9 4 7 5 3
30t
50mN 9771 8 11 6 3 9 5 10 4 7
50m&EXE 10 11 9 8 7 1 2 6 4 3
200mYb- 10 11 7 9 5 6 8
g 5t = 71 86 64 30 57 22 28 8 43 19 54
JIg: {1 2 1 3 7 4 9 8 11 6 10 5
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200mait b-Yb- 8 9 7 11 10 5 6 3 4
50mEKE 10 11 6 8 9 4 7 2 3 5 1
50mB8i 11 9 5 8 11 2 4 1 3 7 6

408 50mN 4§71 6 8 10 9 7 4 5 2 3 11
50m&EXE 8 9 11 10 4 7 3 6
200miu- 8 7 11 10 5 6 3

g 5t = 51 53 42 58 57 24 35 6 14 15 32
g il 4 3 5 1 2 8 11 10 9
200maih b-Yb- 11 7 5 10 6 8 1 4 2 3
50mExE 11 8 4 10 9 6 3 5 2 1
50mB8i 10 8 4 9 7 6 11 2 5 1 3
50mN 4§71 11 7 5 9 6 10 8 1 4 3 2
50mULE
50m&EXE 11 6 5 9 10 7 3 1 4 2
200miu- 11 6 5 10 9 7 8 3 4 1 2
g 5t = 65 42 28 57 47 44 51 13 23 13 13
g il 1 6 7 2 4 5 3 9 8 9 9
400mih b-Yb- 9 11 7 10 8 4 5 6 3 2
400mBdE 11 10 9 8 4 2 3 7 5 6
100mExKE 7 11 6 9 10 4 3 5 1 8 2
200mBAM U= | 10 6 9 11 4 3 8 7 1 2 5

— 100m§FBH2 8 11 10 6 5 4 7 3 1 9 2
1 00mN 9771 11 8 9 10 7 6 5 3 2 4
100M&EXE 11 10 8 9 4 5 6 2 3
400mYu- 10 11 9 7 6 5 4 3 2

g 5t = 7 78 67 69 54 33 41 41 3 34 26

g il 2 1 4 3 5 9 6 6 11 8 10
200maih b-Yb- 10 11 7 5 6 3 9 4 8
50mIxE 5 10 9 4 8 2 11 3 6 7
50mB e 11 10 6 4 8 1 9 2 3 5 7
50mN 4§71 10 11 7 6 5 4 8 2 3 9

BEFZTF | BOMEKE 11 10 7 4 9 1 6 5 3 8 2

200miu- 9 11 6 4 7 2 10 3 5 8
g 5t = 56 63 42 27 43 13 53 19 20 13 41
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&5tm 450 | 448 | 356 | 370 | 340 | 209 | 280 | 206 | 162 | 144 | 229
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